General Info

Number: PROJECT NO. 59-25-06

Description: REPAIRS AND RESURFACING

EASTBOUND AND WESTBOUND ROADWAYS MILEPOST 118.80 TO MILEPOST 127.90

ERIE COUNTY, OHIO

Deadline: FEBRUARY 26, 2025 @ 2:00 P.M. (Eastern Time)

(Estimated Cost: \$11,500,000.00)

Bids
Business
Bid Total

Kokosing Construction Company, Inc. Gerken Paving, Inc.

\$8,032,112.26

\$10,350,419.39

KOKOSING	CONSTRUCTION	COMPANY, INC.
----------	--------------	---------------

		UCTION COMPANY, INC.				
PROJECT Ref. No.	Γ NO. 59-25- Item No.	06 (Ref. Nos. 1-58) Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1.00	LUMP	\$40,000.00	\$40,000.00
2	202	CONCRETE BARRIER REMOVED. AS PER PLAN	844.00	FOOT	\$260.00	\$219,440.00
3	SP 202B	CRACK REPAIR, 1" OR LESS, USING SAND ASPHALT	100.00	CU.YD.	\$250.00	\$25,000.00
4	SP 202B	CRACK REPAIR, 1" OR LESS, USING HOT JOINT SEALER	3,000.00	GALLON	\$20.00	\$60,000.00
5	SP 202B	CRACK REPAIR, WIDER THAN 1" AND LESS THAN 1" IN DEPTH, USING ITEM SP 404 (PG 64-22)	100.00	CU.YD.	\$250.00	\$25,000.00
6	SP 202B	CRACK REPAIR, WIDER THAN 1" AND GREATER THAN 1" IN DEPTH, USING SP 402 (PG 64-22)	100.00	CU.YD.	\$250.00	\$25,000.00
7	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=2")	272,991.00	SQ.YD.	\$2.25	\$614,229.75
8	254	PAVEMENT PLANING, PORTLAND CEMENT CONCRETE, AS PER PLAN	1,040.00	SQ.YD.	\$0.80	\$832.00
9	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, PG 64-22	360.00	CU.YD.	\$165.00	\$59,400.00
10	SP 403	ASPHALT CONCRETE LEVELING COURSE, PG 76-22 (FR)	2,470.00	CU.YD.	\$277.00	\$684,190.00
11	SP 404	ASPHALT CONCRETE SURFACE COURSE. USING CRUSHED STONE. PG 64-22	8.460.00	CU.YD.		\$2,013,480.00
12	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG 76-22 (FR)	4,117.00	CU.YD.	· ·	\$1,111,590.00
13	SP 404A	JOINT SEALER	93.915.00	FOOT	\$0.20	\$18.783.00
14	407	NON-TRACKING TACK COAT	31,400.00	GALLON	\$2.25	\$70,650.00
15	519	PATCHING OF CONCRETE STRUCTURES, AS PER PLAN	220.00	SQ.FT.	\$235.00	\$51,700.00
16	519	SPECIAL-PATCHING OF CONCRETE STRUCTURES	587.00	FOOT	\$288.00	\$169,056.00
17	SP 536	CONCRETE WEATHERPROOFING, DECK, ABUTMENT SLABS AND APPROACH SLABS	10,644.00	SQ.YD.	\$6.85	\$72,911.40
18	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, LESS THAN 4", AS PER PLAN	6.00	EACH	\$1,500.00	\$9,000.00
19	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, 4" - 12", AS PER PLAN	6.00	EACH	\$1,875.00	\$11,250.00
20	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, GREATER THAN 12", AS PER PLAN	9.00	EACH	\$2,250.00	\$20,250.00
21	SP 611	CATCH BASIN, GRATE AND CASTING, AS PER PLAN	2.00	EACH	\$2,240.00	\$4,480.00
22	611	MANHOLE ADJUSTED TO GRADE	23.00	EACH	\$1,225.00	\$28,175.00
23	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$694,417.60	\$694,417.60
24	SP 614A	TEMPORARY REMOVAL OF EXISTING PAVEMENT MARKINGS	3.00	MILE	\$8,500.00	\$25,500.00
25	SP 614C	REMOVAL OF PAVEMENT MARKING	57.60	MILE	\$1,434.53	\$82,628.93
26	SP 614ZP	ZONE PERSON WITH ZONE VEHICLE	4,008.00	HOURS	\$66.00	\$264,528.00
27	614	LAW ENFORCEMENT OFFICER WITH PATROL CAR, FOR ASSISTANCE	1,932.00	HOURS	\$98.00	\$189,336.00
28	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC. AS PER PLAN	50.00	CU.YD.	\$125.00	\$6,250.00
29	614	6" WORK ZONE EDGE LINE, CLASS 1, 740.02 TYPE 1	18.20	MILE	\$650.00	\$11,830.00
30	614	6" WORK ZONE LANE LINE, CLASS 1, 740.02 TYPE 1	18.20	MILE	\$400.00	\$7,280.00
31	614	8" WORK ZONE CHANNELIZING LINE, CLASS 1, 740.02 TYPE 1	14,880.00	FOOT	\$0.60	\$8,928.00
32	614	WORK ZONE IMPACT ATTENUATOR, 24"	28.00	EACH	\$750.00	\$21,000.00
33	619	FIELD OFFICE, TYPE B	6.00	MONTH	\$6,000.00	\$36,000.00
34	621	RAISED PAVEMENT MARKERS REMOVED	1,112.00	EACH	\$10.50	\$11,676.00
35	SP 621	RAISED PAVEMENT MARKERS	1,112.00	EACH	\$36.75	\$40,866.00
36	SP 621	REPLACEMENT PRISMATIC REFLECTOR	1,112.00	EACH	\$15.75	\$17,514.00
37	622	CONCRETE BARRIER, TYPE B-50, AS PER PLAN	304.00	FOOT	\$205.00	\$62,320.00
38	622			FOOT		
39	622	CONCRETE BARRIER, TYPE C-50, AS PER PLAN CONCRETE BARRIER, 50", AS PER PLAN	30.00 510.00	FOOT	\$245.00 \$285.00	\$7,350.00 \$145,350.00
40	622		10,470.00	FOOT	\$5.00	\$52,350.00
40	SP 623	PORTABLE BARRIER, UNANCHORED CONSTRUCTION LAYOUT SURVEY	10,470.00	LUMP	\$50.000.00	\$52,350.00
		MOBILIZATION			,	,
42	624 SP 626		1.00	LUMP EACH	\$400,000.00	\$400,000.00
43 44	642	BARRIER REFLECTOR, TYPE B (YELLOW)	960.00	MILE	\$8.00	\$7,680.00
		6" WHITE LANE LINE, TYPE 1	40.40		\$450.00	\$18,180.00
45 46	642	6" WHITE EDGE LINE, TYPE 1	20.20	MILE	\$800.00	\$16,160.00
46	642	6" YELLOW EDGE LINE, TYPE 1	20.20	MILE	\$800.00	\$16,160.00
47	642	12" WHITE CHANNELIZING LINE, TYPE 1	2,000.00	FOOT	\$1.20	\$2,400.00
48	642	WHITE DOTTED LINE, 6" WHITE, TYPE 1	1,500.00	FOOT	\$0.70	\$1,050.00
49	642	WORD ON PAVEMENT, 96", TYPE 1	3.00	EACH	\$150.00	\$450.00
50	642	LANE REDUCTION ARROW, TYPE 1	3.00	EACH	\$100.00	\$300.00

51	642	PAVEMENT MARKING MISC: FINAL PAVEMENT MARKING PREPARATION	18.20	MILE	\$2,000.00	\$36,400.00
52	SP 808	DIGITAL SPEED LIMIT (DSL) SIGN ASSEMBLY	138.00	SIGN MONTH	\$565.00	\$77,970.00
53	SPECIAL	AIR SPEED ZONE MARKINGS, AS PER PLAN	10.00	EACH	\$100.00	\$1,000.00
54	SPECIAL	SONIC NAP ALERT PATTERN (SNAP)	16.84	MILE	\$1,184.12	\$19,940.58
55	SPECIAL	PATCHING CONCRETE BRIDGE DECKS, TYPE B	200.00	SQ.YD.	\$1,050.00	\$210,000.00
56	SPECIAL	LINTEL SPILLWAY REPAIR	26.00	EACH	\$4,875.00	\$126,750.00
57	SPECIAL	DIGITAL SPEED LIMIT (DSL) SIGN ASSEMBLY W/DIGITAL VEHICLE SPEED FEEDBACK ASSEMBLY PROCUREMENT	2.00	EACH	\$12,265.00	\$24,530.00
58	SPECIAL	DIGITAL SPEED LIMIT (DSL) SIGN ASSEMBLY W/DIGITAL VEHICLE SPEED FEEDBACK ASSEMBLY OPERATION	12.00	SIGN MONTH	\$300.00	\$3,600.00

Total: \$8,032,112.26

TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 58)------

\$8,032,112.26

Ref. No.	Item No.	06 (Ref. Nos. 1-58) Description	Quantity	Units	Unit Price	Extension
1	IB. ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1.00	LUMP	\$72,500.00	\$72,500.00
2	202	CONCRETE BARRIER REMOVED, AS PER PLAN	844.00	FOOT	\$91.00	\$76,804.00
3	SP 202B	CRACK REPAIR, 1" OR LESS, USING SAND ASPHALT	100.00	CU.YD.	\$375.00	\$37,500.00
4	SP 202B	CRACK REPAIR, 1" OR LESS, USING HOT JOINT SEALER	3,000.00	GALLON	\$30.00	\$90,000.00
5	SP 202B	CRACK REPAIR, WIDER THAN 1" AND LESS THAN 1" IN DEPTH, USING ITEM SP 404 (PG 64-22)	100.00	CU.YD.	\$400.00	\$40,000.00
6	SP 202B	CRACK REPAIR, WIDER THAN 1" AND GREATER THAN 1" IN DEPTH, USING SP 402 (PG 64-22)	100.00	CU.YD.	\$365.00	\$36,500.00
7	254	PAVEMENT PLANING, ASPHALT CONCRETE (T=2")	272,991.00	SQ.YD.	\$2.19	\$597,850.29
8	254	PAVEMENT PLANING, PORTLAND CEMENT CONCRETE, AS PER PLAN	1,040.00	SQ.YD.	\$12.25	\$12,740.00
9	SP 402	ASPHALT CONCRETE INTERMEDIATE COURSE, PG 64-22	360.00	CU.YD.	\$220.00	\$79,200.00
10	SP 403	ASPHALT CONCRETE LEVELING COURSE, PG 76-22 (FR)	2,470.00	CU.YD.	\$249.00	\$615,030.00
11	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED STONE, PG 64-22	8,460.00	CU.YD.	\$205.00	\$1,734,300.00
12	SP 404	ASPHALT CONCRETE SURFACE COURSE, USING CRUSHED SLAG, PG 76-22 (FR)	4,117.00	CU.YD.	\$268.00	\$1,103,356.00
13	SP 404A	JOINT SEALER	93,915.00	FOOT	\$1.10	\$103,306.50
14	407	NON-TRACKING TACK COAT	31,400.00	GALLON	\$2.50	\$78,500.00
15	519	PATCHING OF CONCRETE STRUCTURES, AS PER PLAN	220.00	SQ.FT.	\$295.00	\$64,900.00
16	519	SPECIAL-PATCHING OF CONCRETE STRUCTURES	587.00	FOOT	\$438.00	\$257,106.00
17	SP 536	CONCRETE WEATHERPROOFING, DECK, ABUTMENT SLABS AND APPROACH SLABS	10,644.00	SQ.YD.	\$11.00	\$117,084.00
18	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, LESS THAN 4", AS PER PLAN	6.00	EACH	\$2,266.00	\$13,596.00
19	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, 4" - 12", AS PER PLAN	6.00	EACH	\$2,601.00	\$15,606.00
20	SP 611	CATCH BASIN, RECONSTRUCTED TO GRADE, GREATER THAN 12", AS PER PLAN	9.00	EACH	\$2,904.00	\$26,136.00
21	SP 611	CATCH BASIN, GRATE AND CASTING, AS PER PLAN	2.00	EACH	\$600.00	\$1,200.00
22	611	MANHOLE ADJUSTED TO GRADE	23.00	EACH	\$2,000.00	\$46,000.00
23	SP 614	MAINTAINING TRAFFIC, AS PER PLAN	1.00	LUMP	\$2,425,000.00	\$2,425,000.00
24	SP 614A	TEMPORARY REMOVAL OF EXISTING PAVEMENT MARKINGS	3.00	MILE	\$5,500.00	\$16,500.00
25	SP 614C	REMOVAL OF PAVEMENT MARKING	57.60	MILE	\$1,475.00	\$84,960.00
26	SP 614ZP	ZONE PERSON WITH ZONE VEHICLE	4,008.00	HOURS	\$110.00	\$440,880.00
27	614	LAW ENFORCEMENT OFFICER WITH PATROL CAR, FOR ASSISTANCE	1,932.00	HOURS	\$105.00	\$202,860.00
28	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC, AS PER PLAN	50.00	CU.YD.	\$405.00	\$20,250.00
29	614	6" WORK ZONE EDGE LINE, CLASS 1, 740.02 TYPE 1	18.20	MILE	\$1,000.00	\$18,200.00
30	614	6" WORK ZONE LANE LINE, CLASS 1, 740.02 TYPE 1	18.20	MILE	\$900.00	\$16,380.00
31	614	8" WORK ZONE CHANNELIZING LINE, CLASS 1, 740.02 TYPE 1	14,880.00	FOOT	\$1.00	\$14,880.00
32	614	WORK ZONE IMPACT ATTENUATOR, 24"	28.00	EACH	\$2,340.00	\$65,520.00
33	619	FIELD OFFICE, TYPE B	6.00	MONTH	\$2,700.00	\$16,200.00
34	621	RAISED PAVEMENT MARKERS REMOVED	1,112.00	EACH	\$11.00	\$12,232.00
35	SP 621	RAISED PAVEMENT MARKERS	1,112.00	EACH	\$36.75	\$40,866.00
36	SP 621	REPLACEMENT PRISMATIC REFLECTOR	1,112.00	EACH	\$15.75	\$17,514.00
37	622	CONCRETE BARRIER, TYPE B-50, AS PER PLAN	304.00	FOOT	\$342.00	\$103,968.00
38	622	CONCRETE BARRIER, TYPE C-50, AS PER PLAN	30.00	FOOT	\$427.00	\$12,810.00
39	622	CONCRETE BARRIER, 50", AS PER PLAN	510.00	FOOT	\$416.00	\$212,160.00
40	622	PORTABLE BARRIER, UNANCHORED	10,470.00	FOOT	\$23.00	\$240,810.00
41	SP 623	CONSTRUCTION LAYOUT SURVEY	1.00	LUMP	\$28,980.00	\$28,980.00
42	624	MOBILIZATION	1.00	LUMP	\$390,000.00	\$390,000.00
43	SP 626	BARRIER REFLECTOR, TYPE B (YELLOW)	960.00	EACH	\$16.25	\$15,600.00
44	642	6" WHITE LANE LINE, TYPE 1	40.40	MILE	\$900.00	\$36,360.00
45	642	6" WHITE EDGE LINE, TYPE 1	20.20	MILE	\$1,000.00	\$20,200.00
46	642	6" YELLOW EDGE LINE, TYPE 1	20.20	MILE	\$1,000.00	\$20,200.00
47	642	12" WHITE CHANNELIZING LINE, TYPE 1	2,000.00	FOOT	\$1.50	\$3,000.00
48	642	WHITE DOTTED LINE, 6" WHITE, TYPE 1	1,500.00	FOOT	\$1.50	\$2,250.00
49 50	642 642	WORD ON PAVEMENT, 96", TYPE 1 LANE REDUCTION ARROW, TYPE 1	3.00 3.00	EACH EACH	\$300.00 \$200.00	\$900.00 \$600.00
		LANE RELUGION ARRIVO IVERT	3.00	HΔCH	#200 00	

51	642	PAVEMENT MARKING MISC: FINAL PAVEMENT MARKING PREPARATION	18.20	MILE	\$1,000.00	\$18,200.00
52	SP 808	DIGITAL SPEED LIMIT (DSL) SIGN ASSEMBLY	138.00	SIGN MONTH	\$2,000.00	\$276,000.00
53	SPECIAL	AIR SPEED ZONE MARKINGS, AS PER PLAN	10.00	EACH	\$100.00	\$1,000.00
54	SPECIAL	SONIC NAP ALERT PATTERN (SNAP)	16.84	MILE	\$815.00	\$13,724.60
55	SPECIAL	PATCHING CONCRETE BRIDGE DECKS, TYPE B	200.00	SQ.YD.	\$833.00	\$166,600.00
56	SPECIAL	LINTEL SPILLWAY REPAIR	26.00	EACH	\$4,100.00	\$106,600.00
57	SPECIAL	DIGITAL SPEED LIMIT (DSL) SIGN ASSEMBLY W/DIGITAL VEHICLE SPEED FEEDBACK ASSEMBLY PROCUREMENT	2.00	EACH	\$21,000.00	\$42,000.00
58	SPECIAL	DIGITAL SPEED LIMIT (DSL) SIGN ASSEMBLY W/DIGITAL VEHICLE SPEED FEEDBACK ASSEMBLY OPERATION	12.00	SIGN MONTH	\$2,250.00	\$27,000.00

Total: \$10,350,419.39

TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 58)-------

\$10,350,419.39